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QUESTION 1

When applying the Policy Centralization pattern, if you create a global policy that conflicts with a service-specific policy
that you already had in place, then:

A. you did not correctly apply the Policy Centralization pattern, because it guarantees policy conflict resolution

B. you need to apply the Intermediate Routing pattern in order to allow messages to avoid one or the other policy
C. you need to apply the Decoupled Contract pattern in order to separate the conflicting policy definitions

D. None of the above.

Correct Answer: D

QUESTION 2

Legacy systems often rely upon a combination of proprietary data models, proprietary data formats, and proprietary
transport protocols. For this reason the Legacy Wrapper pattern is often used together with which of the following
patterns?

A. Atomic Service Transaction

B. Service Messaging

C. Service Broker

D. Messaging Metadata

Correct Answer: C

QUESTION 3

The Protocol Bridging pattern addresses problems that occur when services using different transport protocols or
different versions of the same transport protocol try to communicate.

A. True
B. False

Correct Answer: A

QUESTION 4
A typical service-oriented enterprise architecture specification can encompass:
A. only one service inventory

B. multiple service inventories
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C. non-service-oriented technology architectures
D. None of the above.

Correct Answer: B

QUESTION 5

Service logic can be deployed in isolation to autonomy, but services can still autonomy when they are required to
access shared data sources.

A. increase, gain
B. decrease, gain
C. increase, lose
D. decrease, lose

Correct Answer: C
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